Science 10 Physics Unit Review Questions:

1) Explain the difference between the uniform motion and the non-uniform
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2) What is the difference between a vector quantity and a scalar quantity?

3) What information can you obtain out of a position-time graph?
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4) If your initial position and final position are the same, what is your
displacement?

5) If a position-time graph a slope of zero, what can you conclude about the
velocity of the object?

6) What is a rate bf change? |
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7) When an object is moving in a constant positive velocity, how does its
position-time graph look like? o ,
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8) Describe the motion of the following position-time graph.
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9) A boat took 250 seconds to travel 2300m. What was the boat's average
()
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10) Convert 210m/s into km/h. Convert 78km/h into m/s.
2omfe x 3.4 = 154 kmyj

Tkt x L = 2.7 m

11) If you drive your car with an average velocity of 34m/s north, what
would be your displacement if you drive for 1300s?
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12) An air plane flies with an average velocity of 780km/h south for 6.5

hours. What would be the plane's final position if its initial position is
1000km south? g
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13) A train's initial velocity is 50km/h East. If its velocity changes to
60km/h East what is the change in velocity of the train?
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14) A car moving west at 20m/s strikes a concrete wall and rebounds to the
east at 2m/s. What is the car's change in velocity and the direction of the
car's accelerat10n‘7 Vi = 206Mk [w] = —26m)
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15) Explain what happens to the velocity of the object, if it has an
acceleration of Om/s2,
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16) A stationary skier starts to ski down the hill with an average
acceleration of 3.4m/s? for 15s. What is his final velocity?
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17) How much time is required to accelerate from 35m/s [S] to 55m/s [N]
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18) The velocity-time graph below represents the motion of a truck. Read
the graph and answer questions a) ~ ¢).
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a) During which time interval was it moving the fastest?

t—, 36 s 9—051

b) At what time(s) was its velocity 6m/s [N]?
2455 and {3
¢) During which time interval was it slowing down?
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d) During which time interval was its acceleration zero?
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e) Calculate the average acceleration for the following time intervals.
0s~10s, 10s~20s, 20s~30s, 30s~40s, 40s~50s.
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19) A skateboarder is moving with an velocity of Sm/s [E]. If his velocity
doubles in a same direction in Sseconds, what is his acceleration?
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20) A rock is thrown up into the air with an initial velocity of 15m/s up.
What is the rock's velocity affr O_fl seconds? Ve BV - "/
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21) You dropped a ball off the building. The ball's velocity when it
reached the ground was 40m/s down. How long did it take to reach the
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22) Describe the difference between nuclgar fusi(}n and nuclear fission.
T ke sy :
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23) How many protons and neutrons are in the nuclej of each of/the
following isotopes?
a) 4019K b) 23‘91Pa C) 131531 d) 6028Ni
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24)Refer to the decay curve for Iodine-131 below and answer the questions a)~

e). L

Decay curve for fodine-131
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a) How long it the half life of Iodine-131?

b) What percentage of Iodine-131 remains (1) after one half life? (ii) after two
half lives? (iii) after three half-lives?

)oSl i) 25k i) f2eey

¢) Use the graph to estimate the percentage of Iodine-131 remaining after
(1) 12 days (ii) 35 days (iii) 50 days
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d) Estimate the time elapsed when the amount of Todine-131 remaining is
(1) 80% (i) 40% (iii) 20%

e) A sample of Jodine-131 weights 500g. What mass of iodine would remain after
24 days?
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25) What two isotopes are required to start the nuclear fusion reaction?
2119 J
26) Provide the nuclear symbol for each equation in the following list.

a) 20‘30Hg ----- > %E {/T[ . 4 O_lﬁ




